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1 EEAK (Bfz: A)
R01.10 R01.11 R01.12| R02.1 | R02.2 | R02.3 R02.4 R02.5 | R02.6 R02.7 R02.8 R029| &%

XIEBR1E 70 48 60 50 28 50 26 31 70 45 39 66 583
NEEH2(E 43 51 37 45 31 56 37 33 68 39 42 65 547
XIER3(E 14 22 18 7 11 11 7 8 17 14 10 28 167

KB/ 127 121 115 102 70 117 70 72 155 98 91 159 1,297
NEH1E 78 42 55 45 32 41 46 38 34 50 47 44 552
REH2(E 63 42 43 49 48 43 47 46 34 52 49 45 561
N H 3fE 41 26 30 20 8 9 7 10 20 21 12 17 221

ANEH/NEH 182 110 128 114 88 93 100 94 88 123 108 106 1,334
HiER 1= 24 33 46 25 6 5 4 10 9 15 16 10 203
HiER 2% 29 24 48 29 22 23 14 14 13 16 27 27 286
H iR 3% 11 21 26 17 20 9 6 8 11 10 13 13 165

HEER /&t 64 78 120 71 48 37 24 32 33 41 56 50 654

1fER/NGH 172 123 161 120 66 96 76 79 113 110 102 120 1,338

2(EH/\EH| 135 117 128 123 101 122 98 93 115 107 118 137 1,394

RIEA=MI 66 69 74 44 39 29 20 26 48 45 35 58 553
we SIE 309 363 287 206 247 194 198 276 262 255 315 3,285

NIEETHH 5 4 5 4 5 52
RNIEZEITE# 4 5 51
HiEEEIT B 4 4 5 4 4 5 4 5 4 4 5 4 52
EITHHE 14 12 13 12 12 14 13 13 13 13 13 13 k55

2 1EH7YEEAHK (BAL : N/fE)
R01.10 R01.11 R01.12| R02.1 | R02.2 R02.3  R02.4 | R02.5 R02.6 RO02.7 | R02.8 | R02.9 | £Hif

XIEBR1E 140 120 15.0| 125 7.0 10.0 6.5 7.8 14.0| 11.3 9.8 13.2 11.2
NEEE2(E 8.6 128 9.3 113 78| 11.2 9.3 8.3 13.6 9.8| 10.5| 13.0 10.5
XIER3(E 2.8 5.5 4.5 1.8 2.8 2.2 1.8 2.0 3.4 3.5 2.5 5.6 3.2
=R 0 8.5 10.1 9.6 8.5 5.8 7.8 5.8 6.0 10.3 8.2 7.6 | 10.6 8.3
NEH1E 156 105 13.8| 11.3 8.0 10.3 9.2 9.5 85 10.0 11.8| 11.0 10.8
RNEH2(E 126 105| 108 | 123| 12.0| 10.8 94| 115 85 104 123| 11.3 11.0
N H 3fE 8.2 6.5 7.5 5.0 2.0 2.3 1.4 2.5 5.0 4.2 3.0 4.3 4.3
NEHFHE| 121 9.2 10.7 913 1.3 7.8 6.7 7.8 1.3 8.2 9.0 8.8 8.7
HiEER 1= 6.0 8.3 9.2 6.3 1.5 1.0 1.0 2.0 2.3 3.8 3.2 2.5 39
HiER 2% 7.3 6.0 9.6 7.3 5.5 4.6 3.5 2.8 3.3 4.0 5.4 6.8 5.5
H bR 3% 2.8 5.3 5.2 4.3 5.0 1.8 1.5 1.6 2.8 2.5 2.6 3.3 3.2
HE2H¥13 5.3 6.5 8.0 5.9 4.0 2.5 2.0 2.1 2.8 3.4 3.7 4.2 4.2
=8| 123 103 124 10.0 5.5 6.9 5.8 6.1 8.7 8.5 7.8 9.2 8.6
AE=R 9.6 9.8 9.8 10.3 8.4 8.7 7.5 7.2 8.8 8.2 9.1 105 9.0
RIE=R 4.7 5.8 5.7 3.7 3.3 2.1 1.5 2.0 3.7 35 2.7 4.5 3.6

aEt 8.9 8.6 9.3 8.0 5.7 5.9 5.0 5.1 7.1 6.7 6.5 8.1 7.1
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